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Time : 3.00 Hrs L | Marks : 90

PART - I

Note : 1) Answer all the questions. 2) Choose the most approprlate'answer
from the given four alternatives and write the optlon code and the

corresponding answer. _ 20°x 1 = 20
A ! 0 tanE '
Al _tanf 1 : am;i AB =1y then; B =

- a) [COSQ g) % b); [0952 %J A4 | c) (c.os2 9):1 d) [Sinzng

P B A #

The rank of the matrix | > 4 6':}-’-'1;8 is
- =D gt
Ay L b) 2 AN
If Z is a non zero complex number such that 2iz2 = sothemilZ:] . s
i : | B
&) = . b) 1 c) 2 d) 3
 Azero of X3 + 64 is _
-@0 b) 4 c) 4! d) -4
The value of sin~1 (cosx), 0 < x < 7 is
7 o r ' : Ty ¥
an-x . by I=2 LR S A
The.radius of the circle 3x2 + by2 + 4bx - 6by + byz 0is :
ayl: b) 3 - ¢ J10 d) J11 -
The distance from the origin ta the plane 3x - 6y + 22+ 7 =0 is
a)0 , k) 1 | c) 2 d) 3

108,

If ."5', l’;, ¢ are non - coplanar, non zero vectors such that [Z,' E, E] =3 then

{[Ex 5, b x <_:- g'x EJ}Z’ES equal to

a) 81 bY9 ¢) 27 d) 18

The slope of the normal to the curve f (x) = 2 cos 4x at X = 1% is
| L a e

a) —4+f3 b) -4 c) e ) 443

The percentage error of fifth root of 31 is approximately hdw many times the percentage
error in 317 | 2RM 12 w=ewfipld Page - 1
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1 F ST e
5 b)/g | d) 31

' :r,r'l >
The value of j sin’ x cosx dx. is %Y') @(‘ ,_4_‘
-2
/”3 1 -
) o 5 c) 0 d) =

2

' The order and degree of the differential equation [sinx (dx + dy) =Jcosx (dx — dy)are

/é/):l 2 Bis2, 20 0 (e s 1 SN, 1
If the probability mass function of a random variable is defmed glven be[ow
X —2(=-1{0 | 1]§2 e 7
f(x) t |2k T3k |4k | 5k then the value of K is

ils o '1'_ )1 d)z
= FEE Cill= =
15 ) 3
Which of the foliowzng is a binary operatlon on N.
a) Subtraction #) multiplication o) division d) all of these
The number of rows in a truth table of a compound statement there involved 3 simple
statements is a) 9 bY 8 c) 6 d) 3
If z = x + iy the rectangle form of Re (-iz) is
| a) x by PG ek iy. d) -x +.iy
Allthe roots of the polynomial x20 + x18 + x16 + x12 + 10 are a) real roots
l;r)/com.p'[ex roots but not real c) positive real roots | d) negative real roots

. i e 1
The principal value of €08 ) [ﬁ} is

25 wE 4% el

Y & e 9y
Area of the region bounded by the ellipse ;_6 + % =1lis

a) 12n | . .b) 24n C)36m B)I”48n

d
~The integrating factor for the differential equat|on 3'];" + 2y cotx = 3x COS'SC X |s

a)'sinx> . b)cos x c)sin2x - df “cosx

PART - II 7x2=14

' Note : i) Answer amj seven'questions.'z) Questions number 30 is compulsory.

i Sl 3 e Ll e
i s [ g e find AT
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' g1 S (L ANB
i A= i el B= o 1|2are same type of booiean matriees then find Ay/B and.Bfg-e

Q4 j 4
Find the value of ST W(V%T—?él\ L O L Monda n
. Tty DT M HSS
Find the principal value of sin~1 (—2__} , SPI
| Had wrol- 1

Find the vertices of 9x2 - 16y2 = 144,

A particle is fired straight up from the ground to reach a height of s feet int seconds,
where s (t) = 128t - 16t2, Cemplete the maximum herght of the partlcle reached

Cormnputl -
72

510 .
Evaluate : j. sin”" x dx .
0

(1=2x)
3-4x °

If the probability density funlction for the random__-variable X is-_g’iven-by:

Find dy for the-function ¥ =

() %, TR e 5 Jes bR
J\;‘ = i ¥ !
: 0. otherie then find the valee of K.

Determine whether the three vectors 27 + 3/ + k&, i —2j + 2k and 37 + j +3k are
_ coplanfiar.

PART - III . T3 =0k

Note:i) Answer any seven queStions. ii) Questions number 40 is compulsory.

Solve by determinant method 5x - 2y + 16-=0, x + 3y -7 = 0.

If o and p are the roots of the quadratsc equation 17x2 + 43x - 73 - 0, construct a
quadratic equation whose roots are o +J_and B + 2.

e ' 5
Simplify g s W Ty “into rectangularform

A concrete bridge is designed as a parabolie arch. The road over bridge is 40m long

~and the maximum height of the arch is 15. Write the equation of the parabolic arch.

- prove that [5+§, b+c, EJ&&]zZ[;{, b,,C].

Product of two positive numbers is 20 and their sum is miri’imum find the numbers.

Find the approximate value of ./ by linear approximation method W|thout using

- calculator.

Construct a differential equatuon from the given equation y = A cosx + B sinx by
eliminating the constants A and B. "~ '

Two Unbiased coins are tossed at the same time, find probablllty mass function for
gettmg heads :
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cz-i-b

A binary operation * is defined on Q by axb= » Va,b € Q verify whether * satisfies

closure property, comrRutative elesureppepery commutatlve property and associative
property :

PART -1V
Note : Answer all questions. ' 8.7 5=35
a) Solve the system of linear equatlons, by Cramer’s rule xq - xz =3, :
2x1 + 3x2 + 4x3 =17, X2 +2x3=7.(OR)b)Ifz=x +iyis a complex number

2z +1

Im. _
such that [z‘z o

]= 0 show that the locus of z is 2x2 + 2y2 + x - 2y =0,

a) If 2 + iand 3 - \5 are two roots of the equatioh-
x6 - 13x5 + 62x4 - 126x3 + 65x2 + 127x - 140 = 0 find the roots. (OR)

i e e Ao
b) Find the value of tan [‘305 I[E) —sin” [‘2—})

a) Find the equatlon of c1rcie passmg through (1, 0), (-1, 0) and (0, 1). (OR)
b) If ax2 + by2 = 1 and. (cx2 + dy2 = 1) are interseting orthogonally prove that

Fagul 1

Lol i WO d~/.\-4

a)If g=i—j, b=i—j—4k, c=3j—k and d=2i +5; +k *then verify that
(axg)'x(gxc_:f):[a ¢ d—]gu[f_) c Zi]a . (OR)
b) A right circular cylinder has radius r = 10 cm and height h = 20cm suppose that the

radius of the cylinder is increased from 10cm to 10. icm and the height does not
change. Estimate the change in t he volume of the cylinder. Also Calculate the relative :

‘error and percentage error.

a) Find the non parametric vector equation and Cartesian equation of a plane passing |

* through a point (1, -2, 4) perpendicular to the plane X + 2y - 3z =11 and parallel to

x+7_y+3_z
T T

b) Find the area of the region enclosed by the parabolas y2 = 4x and x2.= 4y .

a) Find the dimensions of a Iargest rectangle which is snscrlbed in a circle of radius

. (OR)

- 10cm. : -~ (OR)
_b) The growth of a population is proportional to the number present. It the population

of a colony doubles in 50 years in how many year will be population become triple?
a) If the probability density function of a random variable x is given by
e Jke?, x>0 . '
f(_x 7 ; : 0' then find (i) The value of-k. ii ) Distribution function
Ee s ;
iii)P(x<3)iv)p(5<x)v)P(x<4). (OR)

'b) Let A= Q\ {1}, a binary operation * is defined on A by x * y = x + y - xy. verify

whether * has closure property on A? Then verify whether * satlsfles commumtatwe

law, associative law, identity law, and inverse law.
~2RM 12 ' sewfiglb Page - &7\

Klndly send me your questlons and answerkeys to us : Padasalal Net@gmail.com



https://www.padasalai.net/
https://www.padasalai.net/

